
Funny Car. Multi-jig (5,55m) page 1/2 Updated: 2022-11-04

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Module

6 Beam 70. 1850 6,22 37,3 1022 6129 7661 817 4903 6129

12 Crossbeam 70. 550 1,98 23,8 747 8964 11205 598 7171 8964

8 Leg 700 1,6 12,8 614 4914 6143 491 3931 4914

4 Crossbar 600 0,56 2,2 200 801 1001 160 641 801

16 Diagonal 742 0,67 10,7 194 3096 3870 155 2477 3096

3 Diagonal 848 1,05 3,2 290 871 1088 232 697 871

12 Beam U-reinforcement 60. 30 0,09 1,1 160 1917 2396 128 1534 1917

2 Wire tensioner 0,22 0,4 102 204 255 82 163 204

8 Fötter 0,06 0,5 89 714 893 71 571 714

180 Bolt w/ flange, M8 x 12 0,01 1,8 2,68 482 603 2,68 482 603

30 Nut w/ flange, M8 0,01 0,3 1,81 54 68 1,81 54 68

94,1 Sum: 28146 35183 Sum: 22624 28280

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Chassis bottom

3 Beam 70. 650 w/M8 2,2 6,6 793 2379 2974 634 1903 2379

4 Beam 45. 650 w/M8 1,61 6,4 648 2591 3239 518 2073 2591

8 Beam Adjuster 45 0,27 2,2 179 1428 1785 143 1142 1428

4 Beam Adjuster 70 0,32 1,3 204 816 1020 163 653 816

4 Height adjuster 100, 150 0,33 1,3 176 704 880 141 563 704

12 Tube Adjuster bolt with lock 0,18 2,2 196 2356 2945 157 1885 2356

105 Bolt w/ flange, M8 x 16 0,01 1,1 2,87 301 376 2,87 301 376

60 Nut w/ flange, M8 0,01 0,6 1,81 109 136 1,81 109 136

21,6 Sum: 10684 13355 Sum: 8629 10786

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Chassie rear

2 Beam 70. 650 w/M8 2,2 4,4 793 1586 1983 634 1269 1586

4 Height Adjuster 100. 500 1,11 4,4 0 0 0 0 0 0

2 Beam Adjuster 70 0,32 0,6 204 408 510 163 326 408

2 Tube Adjuster bolt with lock 0,18 0,4 196 393 491 157 314 393

46 Bolt w/ flange, M8 x 16 0,01 0,5 2,87 132 165 2,87 132 165

36 Nut w/ flange, M8 0,01 0,4 1,81 65 82 1,81 65 82

10,7 Sum: 2584 3230 Sum: 2107 2633

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Rear end

2 Beam 45. 1450 w/M8 3,6 7,2 936 1872 2340 749 1497 1872

2 Fixture plate 4,74 9,5 933,3 1867 2333 747 1493 1867

2 Leg 700 Support 1,73 3,5 632 1265 1581 506 1012 1265

2 Fötter 0,06 0,1 89 179 223 71 143 179

4 Beam Adjuster 45 0,27 1,1 179 714 893 143 571 714

2 Beam 70. 650 w/M8 2,2 4,4 793 1586 1983 634 1269 1586

2 Upright 150, 650 w/slit 5,85 11,7 2729 5459 6823 2183 4367 5459

1 Beam 70. 1050 w/M8 3,56 3,6 1017 1017 1272 814 814 1017

84 Bolt w/ flange, M8 x 16 0,01 0,8 2,87 241 301 2,87 241 301

20 Nut w/ flange, M8 0,01 0,2 1,81 36 45 1,81 36 45

42,0 Sum: 14235 17793 Sum: 11443 14304

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Front

2 Beam 45. 1450 w/M8 3,6 7,2 936 1872 2340 749 1497 1872

2 Fixture plate 4,74 9,5 933,3 1867 2333 747 1493 1867

2 Leg 700 Support 1,73 3,5 632 1265 1581 506 1012 1265

2 Fötter 0,06 0,1 89 179 223 71 143 179

4 Beam Adjuster 45 0,27 1,1 179 714 893 143 571 714

2 Tube Adjuster bolt with lock 0,18 0,4 196 393 491 157 314 393

2 Wheel spindle jig assembled 3,78 7,6 2800 5600 7000 2240 4480 5600

50 Bolt w/ flange, M8 x 16 0,01 0,5 2,87 143 179 2,87 143 179

36 Nut w/ flange, M8 0,01 0,4 1,81 65 82 1,81 65 82

30,1 Sum: 12097 15121 Sum: 9719 12149

Weight

Weight

List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%

Weight

Weight

Weight



Funny Car. Multi-jig (5,55m) page 2/2 Uppdaterad: 2022-11-04

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Body front

2 Beam 70. 1850 w/M8 6,26 12,5 1668 3335 4169 1334 2668 3335

4 Beam Adjuster 70 0,32 1,3 204 816 1020 163 653 816

16 Bolt w/ flange, M8 x 16 0,01 0,2 2,87 46 57 2,87 46 57

8 Nut w/ flange, M8 0,01 0,1 1,81 15 18 1,81 15 18

14,0 Sum: 4212 5265 Sum: 3381 4227

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Shims

10 Tube Adjuster Shims 0,5 0,01 0,1 31 306 383 24 245 306

10 Tube Adjuster Shims 1,0 0,02 0,2 31 306 383 24 245 306

10 Tube Adjuster Shims 1,5 0,03 0,3 31 306 383 24 245 306

10 Tube Adjuster Shims 2,0 0,04 0,4 36 357 446 29 286 357

10 Tube Adjuster Shims 2,5 0,06 0,6 41 408 510 33 326 408

10 Tube Adjuster Shims 3,0 0,07 0,7 48 485 606 39 388 485

10 Tube Adjuster Shims 4,0 0,09 0,9 51 510 638 41 408 510

10 Tube Adjuster Shims 5,0 0,11 1,1 54 536 669 43 428 536

10 Tube Adjuster Shims 10,0 0,22 2,2 99 995 1243 80 796 995

6,5 Sum: 4208 5259 Sum: 3366 4208

Qty Name Kg/pc Kg/tot. Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Extra

20 Bolt w/ flange, M8 x 12 0,01 0,2 2,68 54 67 2,68 54 67

19 Bolt w/ flange, M8 x 16 0,01 0,2 2,87 54 68 2,87 54 68

20 Nut w/ flange, M8 0,01 0,2 1,81 36 45 1,81 36 45

0,6 Sum: 144 180 Sum: 144 180

Tot.

200 Bolt w/ flange, M8 x 12 0,01 2,0

320 Bolt w/ flange, M8 x 16 0,01 3,2

210 Nut w/ flange, M8 0,01 2,1

Sek/pc excl. VAT Total excl. VAT Total incl. VAT Sek/pc excl. VAT Total excl. VAT Total incl. VAT

Subject to possible changes Total: 76309 95386 Total: 61414 76767

* Discounted price is when you buy a kit. You don’t need to buy this complete kit. You can also buy the smaller kits from this kit.

You pay Swedish VAT if you buy in Sweden or from a EU country with out a VAT number.

If you have a EU VAT number you don’t need to pay VAT.

Out side EU, you don’t need to pay VAT, but you have to pay import tax in your country.

Kg/tot.

219,7

Weight

Weight

Weight

Weight List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%

List price, Sek Discounted price. 20%


